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V) Section-D has 4 (LA type) questions of § marks each ic
vi) Section-E has 3 (case-based sludy) questions of 4 marks eack

[Section-A) . g’
1. The value of x - y + z from the following equation is e
X+y+z 8
X+z =15
y+z 7
a) -3 b -1 e} 1 d) 3
2. IfAbe a 3 x 3 square matrix such that A (Ad) A) = . R then the value of | Adj ﬂ ’H
2 5 b) 25 e b
¢) 125 ' d)625 A
3. IfAand B are symmetric matrices of same order. then (AB' - 2BA') is a
a) Skew symmetric matrix b) Symmetric matrix

c) Neither symmetric matrix nor skew-symmetric A) nene
4. Intheinterval (1, 2) the function fx) =2 [x-1/+ 3[x-2| is
a) Strictly increasing h}&rh:ﬂydacrmirm
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In the following questions, a statement of asser
Reason (R). Choose the correct answer out of the following cholces,
a) Both (A) & (R) are true and (R) is the carrect explanation of the (A).
b) Both (A} & (R) are true but (R) is not the correct explanation of the (A).
gl (A)is true and (R) is false,
d) (A} is false and (R} is true.
19.  Let f{x) be a polynomial function of degree 6 such that
) = (% - 1)° [x - 3)%, then
& ¥
Asserfion (A) ; 1 (x) has a minimum at x =1
Reason (R) : When :}i” (x) < 0, for all xgE(a~h, a) andgd,_ {f{x-‘;‘, 0, forallxs(a+h a);
® X

‘where 'h' is an infinitesimally small positive quantity then f(x) has a minimum at x = a,
provided f{x) is cont. at x = 4.
20 Assertion {A): The relation F:{{1,2 3 4} - {x, v, z, p} defined by f = {(1, %), (2, ¥}, (3, z)}
Is a bijective function.
Reason (R) : The function
fif. 2. 31 {L y, 2, P} such that f = { {1,242, y) (3, 2) } is one-one.
217 Find the value of sin" (cos ;?_; )
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24 Find the paints on the line s
{13 3

2 Ha+sbeco=g |al=3 Ib] =5 and el = 7, then find the angle batween a & b
{Section-C)
L}{ Solve the following linear pragramming prablem graphically
Minimize £Z®= Ax + Oy

EE—, .

Subject 1o the canstraints
X+ 3y <80
x+yzx10
Koy
x20 y=>0
ey Solve the integral
I= | dx+5
FadxeT

dx

OR

Solve - J’ dx
(14 x%) (2 +x%

f. Solve the differential equation
2y6™ dx + (y - 2xe™) dy = 0

Solve the differential equation
9 - 3y cotx = sin2x
dx
'/é Draw a rough skeich of the curve y = | x + 1 |, x=-3, x= 3 and find the area of the region
. bounded by them using integration.

y H*ﬂ«iﬂ"ﬂ - cesf) and y= H%*M}. then find the value of &¥ ato= X

dx 4




Find the shorissl
4] &

- A .
r=f3i+Ej+?H]*l{r-ET*rH} and
- »~ u 5
r={-1+Tu)i+ (1 -E;L}T*["‘ +H:Ii:

\y./) Evaluale }‘ % tanx
T el - o1l

o Secx+ lanx

OR

i}
[ tlx-1] #|x-5] dx

o
‘;{ Show that the relation R on the set N x N defined by (a, b) R (¢, d) It ad (b + ©) = be (& + d]
Show that R Is an equivalence relation
(Section -E)
Case Study Based Questions -
This section comprises of 3 case-study based questions of 4 marks each with sub parts
The first two case sludy questions have three sub parts (i), {ii), (iii) of marks 1, 1, 2
respectively. The third case study question has two sub parts of 2 marks gach.)
‘fy ‘Read the foliowing passage and answer the questions given below:
In an Office three employees James, Sophia and Oliver process incoming copies of a
certain form. James processes 50% of the forms, Sophia processes 20% and Oliver the
.m:ﬁgmﬂf-‘h‘u forms James has an error rate of 0.06, Sophia has an error rate of
104 and Oliver has an error rate of 0,03
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(1)
(1}

{1} Find the probability thal Sophia processed the form and committed an er'rur
(it} Find the total probability of committing an error In processing the form,
(iii) The manager of the Company wants to do a quality check. During inspection, he select a

form at randem from the days output of pracessed form. If the form selected at random an
(2)

error, find the probability that the form is not processed by James.
CR

(iil) Let E be the event of committing an error in processing the form and let ., E,. and E, be

;J'm events that James, Sophia and Oliver processed the form. Find the value of

LP(EZIE)
ny o

(2}

Answer the questions based on the given information
The flight path of two airplanes in a flight simulator game are shown below. The coordinates

of the airports P and Q are given.
Gy 4, 1)

P13

Airplane 1 flies directly from P to Q.
wzhaulnmm_-maﬂdﬂwnﬂmma.




sunlight 1s governed by the folloy umber of d
exposed to the sunlight. for x = 3 e :

(i) Find the rate of growth of the plant with respect to the number of days exposed to the

sunlight. (2)
(i} Does the rate of growth of the plant increase or decrease in the first three days? What will

be the height of the plant after 2 days? (2}




